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VWworking capital management is an important fimancial term.. It
revolves around two major fimnancial components, namely the
current assets and current liabilities. These two components
make up the working capital of &a business.

VWWworking capital management deals with the managerial
accounting strategies that monitor the current assets anmnd
liabilities. This is essential for a business to mMmaintain an
efficient operation of ithe company. An effective working
capital management ensures that the business alvways has a
sufficient cash flow 1o support its short-term operating costs
and debt obligations.
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Definition of Working Capital

Working Capital refers to that part of the firm's capital,
which is required for financing short-term or current assets
such a cash marketable securities, debtors and inventories.
Funds thus, invested in current assets keep revolving fast
and are constantly converted into cash and this cash flow
out again in exchange for other current assets. Working

Capital is also known as revolving or circulating capital or
short-term capital.




Objectives
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Understand working capital management, net working capital, and the
related trade-off between profitability and risk.

Describe the cash conversion cvcle. 1ts funding requirements. and the
kevy strategies for managing it

Discuss inventory management: differing views and common
techniques

Explain the credit selection process and the quantitative procedure for
evaluating changes 1n credit standards.

Review the considerations for changes to the cash discount and other
aspects of credit terms. including credit monitoring.




Nature Of Working Capital

+ Working capital management is concerned with the
— problems that arise in attempting to manage the
current assets, the current liabilities and the
interrelations that exist between them.

+» Current assets refer to those assets which in the
ordinary course of business can be, or will be,
converted into cash within one year without
undergoing a diminution in value and without
disrupting the operations of the firm.

Examples- cash, marketable securities, accounts
receivable and inventory.

» Current liabilities are those liabilities which are
intended, at their inception, to be paid in the ordinary &
course of business, within a year, out of the current
assets or the earnings of the concern.

Examples- accounts payable, bills payable, bank
overdraft and outstanding expenses.




._Scope of Working Capita

A. Cover all expenditure

B. Keep business going

C. Generate operating profit




IiImportance of Working

Capital Management

e IMmproves Liquidity and Solvency
Position

e Ensures Uninterrupted Business

Operations

INcrease Profitability and Productivity

Enhance Goodwill

IMmproves Creditworthiness

Timely Payment of Dividends

Helps imn Facing Contingencies




Factors determining WC
* Nature of industry
* Demand of industry 2
» Cash requirements "
* Nature of business
* Manufacturing time
* Volume of sales
» Terms of purchase and sales
* Inventory turnover
* Receivable turnover
* Production schedule




Advantages of Adequate Working Capital

Solvency of the business

Good will

Easy loans

Cash discounts

Regular supply of raw materials

Regular payment of salaries, wages and other day-to-day
commitments

QY ko W N

7. Exploitation of favorable market condition => usage
8. Ability to face crisis 2

9. Quick and regular return on investment
10. High morale




Disadvantages of Excessive Working Capital

It leads to idle funds

It lead to unnecessary purchasing and accumulation of stock
It implies excessive debtors and defective credit policy

It result in overall inefficiency in the organization

The value of shares may fall

Oy M ok

It rise speculative transactions.
Disadvantages of inadequate Working Capital
1. Unable to adopt changes

Trade discount are lost $
3. Cashdiscounts are lost
4. Financial reputation is lost
5. Insolvency




Sources of

Working Capital
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Trade credit Short term Long term
a sources sources
- Sundry creditors
- Bills'Notes payable
and others
\ 4 h 4 \ 4 h 4
Internal External Internal External
- Provision - Bank overdraft/ - Retained - Share capital
for tax Cash Credit profit - Long term loan
- Provision for - Trade dcposits - Provision - Debentures
dividend

- Public deposits
- Bills discounting
- Short term loans

for depre-
ciation




SOURCES OF
WORKING CAPITAL

LONG
TERM
SOURCES

SHORT
TERM
SOURCES

SPONTANEOUS SOURCES

External

I I Sources - Internal External
soanrCSZ: " Bank OI>, Sources - Sources -

Trade Sundry Bills s Tase Trade and Retained Share
Creditors : o Public Profits, Capital,

Creditors Payable expenses Prowvision : A
i 3 Deposits, Depreciati Long
Diwvidend :
= 25 Bill on Term
Balisss Discounti Prowision Loan

ng




Eqnlity N A koy feature of oguty share s the shamng of oonicrship nghts?
A7 T'he returnm s m the form of a dvadend or bonus shares.

Del Debt 1_s consxicered to be the cheaper M of mance compared
to oquity. It does not share control wiath mvestors

‘ It s grven by some bank or financaal mstitutzons These loans are
Termm Loan :
aklo secured by some assets.

Pref 3 The charactensiscs of both common cquaty stocks and debt_they
i have gol poonly over common eualy shares m terms of
Stock PAYIDEDE.

LONG TERM

Thoy nomally mvest m a2 now company at an mital stagecand do a
neorous analysss of a company before mvestmg

Leasing / Can help busmesses delay s cash payment whaxch = equal to _ 5
e : having its goods fmanced -~ 2.

: >
Bank NS Busmeosses neod moncy for their day to day reqrarement whsch ‘ .
Overdratt - anses doe 1o a e gap between ther collectxons and payments. ' 4

- N  T’he credst gaven 1o a busmess by thoer credstors/ supphers. T'he
Trade Credic > crexdit grven to a busmess by ther caeditors/ supphers

SHORT
TERM

E ]
\V/

Debe NG An arrangement wheoereby the busmess sells #s account
Factoring :

reocrwables / debtors at a disscount




TYPES OF WORKING CAPITAL

WORKING CAPITAL

-

BASIS OF CONCEPT I

-
l BASIS OFTIME ‘
- = > - + e - ': ¥
Gross Working Net Working Permanent | Temporary /
!

Special WC

Seasonal WC / ‘




TYPES OF WORKING CAPITAL

GROSS WORKING
CAPITAL

NET WORKING
CAPITAL

PERMANENT / FIXED
WORKING CAPITAL

The current assets of the company’s balance sheet represents the Gross
Workmg Capital of the company

Net working capitalss called simply as working capital
It 1s calculated as Cuarmrent Assets - Carnrent Liabilities

It 1s the level below which the net working capital has never gone_It1s
farther drvided mto Regular WC and Reverse WC.

Net working capital - Penmanent Working Capital
It s further divaded mto Seasonal Working Capital and Special Working
Capital



WORKING CAPITAL CYCLE

r

WORKING CAPITAL CYCLE ¢

conwvert its net current ¢

(calculated 1 days) refers to the time taken by an orgamzation to

1ssets and current liabilites into cash. The shorter the wo rking capital cycle, the
faster the -‘c‘~-::'11'>;1ﬂ;.-‘ 15 zble to free up its cash stuck in working capital and wvice wversa, Thr: 4 key
elements of WCC are cash, recerwvables

udebtc-rs), payables (creditors) and mventory (stock).

WORKING CAPITAL CYCLE = INVENTORY TURNOVER DAYS + DEBTORS

TURNOVER (IN DAYS) - CREDITOR'S TURNOVER

. Reducing the credit penod given to customers
SHORTENING l Reducing the credit penod given to customer
OF WCC

Increase sales te reduce time taken to

2 convert in*-s»:ntcmtr nto sales

) Increase credit penod from suppher of the v matenals,

SOURCES OF SHORT TERM WC 1. Line of Credit 3. Fa-*‘o-*:np
FINANCING 2. 'Trade Credit 4. ShortTerm Loans




DAYS OF WORKING CAPITAL zre is a very important performance indicator
of efficient working capital management. Days working capital expresses how much of net
operating working capital is invested for achieving one dollar of daily sales OR how many days

a company takes to convert its working capital into revenue.

(Operating CA—- Operating
Days of Working

Capital Formula Annual

‘DAYS TO CONVERT A $§ OF WCINTO ‘DOLILARS OF WC INVESTED PER
DOLIAR OF DAILY SALES”




WORKING CAPITAL FORMULA

Working Capital = Current Assets — Current Liabilities

WORKING CAPITAL (CURRENT) RATIO







Example of Gross and Net Working Capital:

Consider the following assets and liabilities — Land and Building 312,00,
Investments ¥60,000; Stock of raw materials ¥ 1,30,000: Stock

of Finished Goods 1,50,000; Receivables (Debtors and Bills

Expenses 320,000; 10% Debenture 32,00,000; Payables (Creditors

Qutstanding Wages T25,000 and Cash & Bank T45,000.
Now, let us calculate Gross and Net Working Capital:

of Semi-finis

- rnm "”"'UHGIS, 'I\q_ [ |

000; Pian; g E‘I“fpmm! |
: hed goods (Wipyy % 4
Receivaple 0gether) 1 40 o S0

and Bils payable mgﬂﬁ:f‘

—

Current Assets: T
Raw materials 130,000
WIP 90,000
Finished goods 1,50,000
Receivables 1,40,000
Prepaid expenses 20,000
Cash&Bank 45,000
Gross Working Capital 5,75,000
Less: Current Liabilities:
Payables 80,000
Qutstanding wages 25,000
B 1,05,000
Net Working Capital 4,70,000
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Ry #thod of Calculating Above Conversion Period for a Firm

dleria) ¢

: Onversj . 1. .
IS on Perjod: vorial il 1S
! e - ivion of raw-maté

" oyt the materia] holding period starting from acquisition

" lactory for processing, and may be calculated as
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Average stock of raw malerlals _ RMCP (In dage
Average perday consumption |

lod:
Work-in-Process Conversion Per
This represents the processing perlod or the time lag between aWmatery

" ing in factory and conversion Into finished goods; and may be calcuylajaq as

Average stockofl WIP .
= WIP !
Average perday cost of production CPin days

5001,
Metingy

Finished Goods Conversion Period:
This represents the warehousing period of the finished goods of the y
being ready for sale and actual sale of the same and may be calculated 3 me lag betyg,
s,

Average stock of FG T
Average perday cost of goods sold

=FGCP in days

Debtors Conversion Period:
This represents the credit period allowed to debtors or the time lag betwee
and collection of the amount of sale from the debtors and may be ca] s ag actug| STeefyy

Average amount of Receivables
- Average perday Credit Sales

=DCP in days

Creditors Deferral Period:
This represents the credit period allowed by the suppliers of goods or the time Lz heryoor
acquisition of raw-materials and actual payment to suppliers for the same: ang may be Gn[*f;-
' 2 Gloulzdy

Average amount of Payables :
Average perday Credit Purchase wHricays

Now, Inventory Conversion Period (ICP) = RMCP + WIPCP + FGCP
Gross Working Capital Cycle (GWCC) = ICP + DCP

Net Working Capital Cycle (NWCC) = GWCC - CDP

Note: If we do not consider non-cash expenses like depreciation, etc,, Net Working Capital Cxt
(NWCC) truly represents the Cash Conversion Period.

Example of Calculation of Working Capital Cycle:

Fnllnwing data are available in relation to a trading concern:
Stock of goods Opening 40,000 and Closing 50,000
Debtors Opening 365,000 and Closing ¥85,000
Creditors Opening ¥50,000 and Closing 360,000
Sales during the year ¥6,00,000 (GP rate is 20%)
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Annual PerDay | _
m 6,00,000 1644 | (A1) |
Cost of goods sold
(6,00,000 x 80%) 4,80,000 | 4,80,000 1,315 (A2)
Add: Closing stock 50,000
530,000
Less: Opening stock 40,000
Purchase ) 4,90,000 1,342 (A3)
Average Debtors R)
(65,000 + 85,000)/2 75,000 (B1)
Average Stock R) 45,000 (B2)
Average Creditors ) 55,000 (B3)
Working Capital Cycle:
Inventory Conversion Period (B2/A2) 34 |days
Debtors Conversion Period (B1/A1) 46 | days
Gross Wntkin-g Capital Cycle 80
Less: Creditors Deferral Period | (B3/A3) 41 | days
Net Working Capital Cycle 39 |days
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P
%\ﬁnginfnrmaﬂﬂﬂ s provided by X Ltd. for the yeqy ending 31,3 20,
’ .

[ Raw material storage period —

| WIP conversion period T 5days |
 Finished goods storage perlod —-——————.__I_E__daE__

| Debt collection period _———————-__JI__%__::&

" Creditors payment period ____é_s_d:__}y:‘l
Annual cash cost of operation . m

(1 year = 360 days) j

(leulate:
3 Operating cycle period
bl Number of operating cycle in a year

[C.U. B.Com(H), 2018]

« Using the above infurmgqinn. calculate the approximate amount of working capital required.

Solution

a) Operating cycle period = Inventory conversion period + Debtors conversion peried —
Creditors deferral period = (45 + 18 + 22) + 30 — 55 = 60 days.

b Number of operating cycle in a year = Days in a year/Operating cycle in days = 360/60 =
blimes

' Approximate amount of working capital requirement = Annual cash operating cost x
Operating cycle period/360 = 18,00,000 x 60/360 = Z3,00,000
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211d, supplled you the following information.

f

| Sales (at 2 months credit) | 3600000 |
" Materlals consumed (suppliers extend 2 months credit) 900000 |
| Weges pald (lag In payment 1 month) | ?,20.£ !
[!‘*?FEfadurlng expenses outstanding at the end of the year (lag in payment 1 month) 2 fg[m

Total adi t — 1 month) il
Ol admin]strative expenses paid (lag in paymen 2000 |

_Sa!_ff promotion expenses (pald quarterly in advance)

ation as part of the cost of pro-

The “ompany sells products at a gross profit of 25% count[ﬂgdepmdhed goods and a cash balance

“ion. It keeps one month’s stock of each of raw materials and finis
bf “'mioc'ﬂp
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in work out the working capta| fequirer,
ply MAtRHh

s.a Enl fJI lh o .
0% ess. et
Aﬁumll'lﬁ itc “.‘Jlk.m'pIOgI Ty ?ﬁ
Solution o R
—— oaudeonsutenent o the e o,
et | "'ul
" . _—"'---._...__-_.___-__._‘ ... PH
e cged .
Materials consum Il P
720, Ol
Wages . 000 x 12} 70
Cash manufacturing eXpenses 180, 5010 g .
(outstarnding represens only the eask part) 2
Cash production cost 2000, 2
Administration expenses 240009 ;
Sales promotion expenses 120009 | 10,
Total cash cost l 29,41].&0 | 20
Statement showing working capital requirement m__ﬁ]TT“""
OCK period Amouyny blockeq :
(month) (3) month (b) a h‘;‘:
— .,_
Current Assets: '
Raw materials 1 75,000 ,
Finlshed goods 1 2,15000 2
Debtors (at cost] 2 245000 4
Advance sales promotion expenses 3 10,000
~ Total (a) | 810
Curent Liabilitfes: '
Creditors 2 75,000 1
Outstanding wages 1 60,000
Outstanding manufacturing expenses 1 80,000
Outstanding administration expenses 1 20,000 3.1 -
—————'g administratic
Total (B) '
e T |
Working capira) fequirement excluding cash (A - ) 100
Add: Expected cagh
Cash cost of working capital including cash 12
Add: Safety margin (209 of 6,00,000) 2
_-___-_-_-_________
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=, os Ltd. sells Its production on ,

08 BI035 profit of 205 o -
,ﬂ[&CIEd from its annual accounts for tho current yog En% on sales, The §

FOET: —_— ded 31 March mx‘fowing Information i3
| L A

sales at 3 months credit e AN L SRAY I

R materials T | om0
Wages paid -average time lag 15 days ‘ 1200000
macturlng expenses paid-1 month WL_ __?@ﬂw_‘_:
I&r_ulnistraliun expenses pald-1 month in aF"" . ,L— —-]-j'g-@_ ) _"
mfﬂ mation expenses-payable half-yearly in advance |I '2—06-:;‘-;— -

1ock of raw materials and 15 month’s stock of finished goods. Processing time is 1 month. The cash

jalance is maintained at T1,00,000 as precautionary measures. Assuming 10% margin, find out the
votking capital requirement of Cosmos Ltd.
[C.U.B.Com (H), 2014-modified]

Solution |
T : -——'-'-—i-

Detailed cost statement for the year () | Annual | Permonth |

; - |

Materfals consumed 1200000 | 100000 |
Wages 960,000 \ 80000
12,00,000 1,00000 |

Cash manufacturing expenses —
Cas i 3360000 | 280000 |
h production cost 50000 el
Administration expenses 2.[10'000 ’ 5 |I
5&135 i il -I
e Cp;:;nnuun expenses o Uw
(< tsh cost o ik

e cost of production will be

Note: 1 ing GP rate, th
Ifwe calculate the cost structure using The question has some fallacy.

Hhess thap cagh production cost as per our calculation.

Szt —
Mﬁ working capital requirement @: I
Block period | Amoun blocked perwee

Eyv— (month) {a) ()

uffﬂnt ASSE

: 00,000

Ew Materia)g , Y= | flmmﬂ
. _ 100000+ VALE000) L=
%“’agﬂﬂ & mfg expsl 1 1,00,000 {Cﬂmfnufd}
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[ r-‘lnrsl'u:u.i- goods L5 H"“‘z'"——-m_ﬁ
80000 T —
pebiors lat cost 3 ’
Advance sales pramotion expenses 6 36,667
. Towl(y) —— [0
Current Liabilities: —
Credltors 1 1
.00,
Outstanding wages 12 o D?;g
Outstanding manufacturing expenses { 1 m.nm
Outstanding administration expenses ) 40@0
Total (B) | — |
Working capital requirement excluding cash (A - B) —
Add: Expected cash .
Cash cost of working capital fncludlng cash
Add: Safety margin (10% of 17,40,000)
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™ Finished goods B 1.5 2,20,000
| Deblors I:: cost] 3 3,36,667
Advance sales promotlon expenses 6 16667
T Total (A) —_
| Current Liabilities:
. Creditors 1 1.00,000
f Outstanding wages 1/2 80,000
Outstanding manufacturing expenses 1 1.00,000
Qutstanding adminlstration expenses 1 40{1?00

| Total (B)

[ Working capital requirement excluding cash (A -
Add: Expected cash

| Cash cost of working capital including cash

| Add: Safety margin (10% of 17,40,000)

|

!

B)

1 ""Jﬂ}fh )
[U'[ﬂrfjl

””Um
. ._Hjﬁ.l'f,q 1

I 1 Ii7]
- iy
1 sy,

)7
28y
-

| l E,-’,ﬂﬂ'ﬂ ‘
| 1o
| 174000

—

174000
19,1450
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hample 16

Df":;mine the working capital requirement from the following particulars;
wal budget figures for & In lakhs):

Raw Materials 480 |
Direct wages 240
Overheads 180
900
Sales 1000 |

Scanned with CamScanner



Addlttonal Information:
stock level of raw matetlals — 18 days

a)  Avenage
i es: 20 days creditls normal

) Credit sal

¢) Finlshed good
d) Process perlod Is 12 days

¢) The company enjoys 30 days cre
N
Assumptions; () 1 year = 3060 days

(b) Raw materlals are Introduced at the hus{rnning

labour and overhead acctue evenly,

Solution

Cost Block Per Day for Each Component: ()

Materials - [4,80,000/360)
Labour - [2,40,000/360] {50% for WID|
Overliead - [1,80,000/360] [50% for WIP|

| S

g are held In stock for a pertod of 10) dayy befor

Statement showing working capltal requirement );
Block pe-r-rc;d
(days) (2)
Current Assets: [
Raw materials 18
Work In process (WIP) 12
Finished goods 10
Debtors [at cos) 20
Total (A) .
Current Llablilites: I
Creditors 30
- Total )|
Vorking capital requirement excluding cash (A - B) i
Add: Estimated cash and bank balance
(82,000 = 10/90)

dit factlities for purchage,
Estimated cash and bank balance: 10% of total work|ny caplta|

(; '
(M7] By, iy,
|

| Halﬂlals R

IIJJJ

1333

Amount blocked pey

week (b)

1,333
1,917
2,500
2,500

”If_ly Aty

of rnnnuf.ulmllw
|

vip
133
13
2%
1917

133

i by

A

i rf-ff_m'
| I‘d'

[ r.%‘}
A3
| W

e
14

201
i
2400
|
|1

w,
wi
| a
ajll

il
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,MF‘H?’
4 o e vorking ©
i

it
E:ﬂ"’h"l

orid
i
(o
e

apltal requirement for the coming v
‘ ¢ year from the following Information of 3
aring company’ Expected annual sales is 1,30,000 units of 210 per unit. The anticipated

o to selling price are as follows: Raw materials 50% and Direct wages 15%. Budgeted
i Eﬁ; 152,000 pef :an[I]TI including 110,000 for depreclatlon. Planned stu-cFi-; will lnclude'rawv
e for 50,000 and 7,500 units of finished goods. Credit allowed to debtors is 4 weeks. Credit
1o be reccived from suppliers is 3 weeks, Overhead and wages payment will be made
 aftef their incurrence. Materlal will stay in the process for 2 wecks. Cash In hand to be main-

10% of total Working Capital. Assume that preduction (s catried on evenly throughout the

gie® w Materlals arc Introduced at the beginning of the process and wages and overhead accrue

el during pmcesslng.

et (C.U B.Com.(H), 2010}
pm.’an
_...:--""_'__-_-_-_ 1
"ﬁ';du:ﬂﬂ" and sales per week (units) = (1,30,000/52) = | 2500
ot block per week for each component: Materlals WIP | FGoods |
yledals - 2500 x 5 12,500 12,500 ‘ 1 |
Lsbour |50% of 45,000 for WIPI 2,500 % 150 1,875 3,750 \
| h Overhead - [50% for WIF] 42,000/52 1014 | 808 |
12,500 14779 | 17058 |
|t
E{Em—e_m showing working capital requirement RY: |
a Blockperiod | Amountblocked per | Amount
(weeks) (a) week (b) axb
: Current Assels:
Raw materials [50,000(given}/12,500 = 4] 4 12,500 50,000
Work in process (W1P) 2 14,779 29,558
Finished goods [7,500/2,500] 3 17,058 51,173
Debtors [at costl 4 17,058 68,231
! Total (A) 1,98,962
| Cament Lizbiltes:
| Creditors 3 12,500 37,500
[ Ouistanding wages & overhead 1 4558 4558
'» Total (B) | 42058
| Working capital requirement excluding cash (A-B) 15650+
A Expected cash (2,24,750 x 10/90) 17434
L-cn\}mfl_ﬂ[_‘mrklng capital 174338
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Example 18

With the following information prepate astatement show Ing the w”'k[”\'
3 lovel of activity of 10400 units perannuny

O Selling price at the 1ate of 35 per unlt,

Capy
Pal ”"I“I'“hrf
i,
,

L]

W The expectad ratios of cost o selling prices are as follows:

i Raw material 0%
i, Dirct wages 10%

i, Ovetheads, J0%
v, ofig, 20%

¢ Raw matetlals are expected to remain In store for an average period of 3 mo
usad for production, and materlals are in process on an average perlod n[r,m. Sb('fgrehr‘
d) Finished goods will stay In store approximately for 6 weeks before dlsm:chx:w -
@) Cradit allowed to debtors Is for a period of 2 months, 0 Custopy,
) Credit allowed by creditors is [or a period of 2 months,
g Lagin payment of wages and overheads are for a period of 2 weeks,
R Cash in hand and bank is expected to be X10,000. It may be noted thay produ)
on evenly during the year and wages and overheads accrue similarly, Assy 0N is cappay
month, Me 4wy,
[CU.B.Com 10,01y
Solution
,' Production and sales per week (units) = (10,400/52) = - I_h;fﬂ -
} Cost block per week for each component: Materials WP | F{;:u};g,"'
| Materials - (200 x 5 x 40%) 100 | 400 | w
' Labour - (200 x 5 x 10%) [SO% of 45,000 for WIF] 50 [0
I va'lhﬂ‘.'ld . [200 x5x 30%:' ISU% {Uf WIFI 150 30
400 600 0|

{_Slatemem shuwin@mk!ng capltal requirement (2);

Block period | Amount blocked per [ Amout

(weeks) (a) week (b) _jh i
Current Assets: —

Raw materials 3 400 3N
Work in process (WIp) 6 600 360
Finished goods 5 800 0
| Debtors [at cost) 8 800 "_____E;E‘Lz
- o |
aumnl 1 anlite
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et Liabliies: e ey

O s 400 3200

) @%‘3_3@3 wages & ovexhﬁd — Ml i N | _E_m* |

— ___ Total(m) | | ™ am0 |

iﬁwchﬂg caphtal requirement excluding cash (A — m e _l

= E@Ed . \ 10000 |

m:ﬁ of working capltal T ‘ : |

- ' | 24000 |
gample 19

A manufacluﬁng_ cﬂm?an}' has a capacity to produce 60,000 unlts pa. The cost structure at that
capacity and selling price p.u. are given as follows:

Materials 35
Labour 0
Overhead 35 (60% variable; of the fixed overhead 330,000 represents depreciation)
12
Profit I3
Selling Price 15
The other details are -

« Raw material storage period — 2 months; Processing time — 1 month and Finished goods in
store — 1 month.

» Debtors and creditors tumover are 6 and 12 times a year.

« Lagin payment of overhead is half month.

Assuming that the company will be able 1o utilise 80% of its capacity, estimate the working capital
i cash cost basis.
CquisemenLan [C.U. B.Com(H), 2016

Solution o ——

E_E-"P\Eﬂed annual production = 80% of 60,000 = 48,000 units; so, 4,000 p.m.

| Overhead cost break up:

| Variable per unit (60% of 35) )
1,20,000

Fixed part; Total (40% of 5 60.000 2

[ 60,000 units

fas p.u Is expressed [ oo
Less: D-Epreciatlun

— e —

90,000
ad overhead )

1.875
— | 4873

Scanned with CamScanner




—

| ’ IF 1 Costblock per month for each component R): | Materaly ;r“‘“‘**- .
Natedals- 4000x5 0 | Eﬂr = i

' Labour - [50% of 45,000 for WIP] 4,000 = 2 JGD 1@;;7
Cash Overhead - [50% for WIP| 4,000 x 4.875 9750 ﬂg |
By | 33750~
| Statement showing working capital requirement ): —0 | 5

f Block period AW%;

J' (weeks) (a) week@®) | | Amo; o

Current Assets: | _-—R"““«-ﬁ.ffl
Raw materials 2 20,000 7

Work in process (WIP) 1 33,750 0.y
| Finished goods 1 47,500 el
Debtors [at costl (12/6 = 2 months) 2 47,500 "-'_"R“ ’
Total (A) | _h“““‘m-?iﬂ{l
Curent Liabilities: \El"ﬂ
Creditors (12/12 = 1 month) 1 20.000 000 |
Qutstanding overhead 1/2 l 15,500 9750 |
Total (B) R
Working capital requirement (A — B) __—-Eg“"-sml
Cash cost of working capital ] w
- ——
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